
FOR 5/16-18

(3) HOLES MUST BE
DRILLED AND TAPPED

REMOVE LEGS FOR RAIL USE

DISCHARGE FITTING
EXISTING

NIPPLE 1 1/4 NPT X 24"
EXISTING

1 1/4 NPT CAP
EXISTING

PLATE, UPPER GUIDE
EXISTING (3) SCREW, 7/16 - 14 X 1"

EXISTING

(4) WASHER, 5/8 LOCK

(4) SCREW, 5/8 - 11 X 2"

ADAPTER
ZOELLER TO MYERS

(3) WASHER, 5/16 LOCK

(3) SCREW, 5/16 - 18 X 1"


